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NEW QUESTION 1

Exhibit.
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You are troubleshooting a route problem in the topology shown in the exhibit. The 10.30.0 0/24 route is not reachable from the R3 router. What would cause this
problem?

A. R3 does not have a route to the BGP next hop of 10.30.0.0/24
B. R4 is not advertising the 10.30.0.0/24 route to R3

C. R3 does not have an established BGP session with R4.

D. R3 does not have an OSPF route for 10.30.0.0/24

Answer: A

NEW QUESTION 2
Click the Exhibit button.

10.0.0.0/8

Which well-known community needs to be used to restrict 10.0.0.0/8 from being advertised to AS 2?
A. no-publish

B. no-advertise

C. no-export-subconfed

D. no-export

Answer: D

NEW QUESTION 3
Click the Exhibit button.
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[edit]
uer@router# show policy-options
prefix-list known-ok-sites {
10.10.0.0/16;
12.233.0.0/18;
172.16.0.0/24;
192.168.12.0/24;
}
prefix-list known-dir-bcast-sites
10.2.0.0/16;
12.233.45.0/24;
172.36.0.3/32;
192.168.1.0/24;
}
policy-statement prefix-list-policy {
term 1 {
from {
prefix-list known-ok-sites:
}
then accept:;
j
term 2 {
from {
prefix-list known-dir-bcast-sites;
}
then reject;
}
term 3 {
from
route-filter 12.233.45.5/32 exact:
}
then next policy:
}
}

The policy shown in the exhibit is applied as an export policy to your BGP neighborship. Which action will be taken for route 12.233.45.5?

A. It will be evaluated by the next policy.
B. It will be accomplished by term 1.

C. It will be accepted by term 1.

D. It will be rejected by term 2.

E. It will be accepted by the default policy

Answer: C

NEW QUESTION 4

You must ensure that all management traffic sourced from your Junos devices is set with a specific DSCP code-point value.

Which action will accomplish this task?

A. Apply the DSCP code-point to the [edit class-of-service host-outbound-traffic] hierarchy.
B. Apply the DSCP code-point to the [edit class-of-service interface 100.0] hierarchy

C. Apply the DSCP code-point in an egress policer.

D. Apply the DSCP code-point to a rewrite rule.

Answer: A

NEW QUESTION 5

Your company has expanded into office space across the street. The new office space has a single Ethernet connection connected to an unmanaged switch. You
must sort traffic based on the IP address into different VLANSs once the traffic arrives on your EX Series switches. D18912E1457D5D1DDCBD40AB3BF70D5D

Which mechanism would you use to accomplish this task?
A. MVRP

B. filter-based VLANs

C. Q-in-Q tunneling

D. dynamic VLANs

Answer: B
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NEW QUESTION 6
You are enabling MSTP in your Layer 2 network to prevent loops.
In this scenario, which three parameters must match on all switches in the network? (Choose three. )

A. configuration name

B. bridge priority

C. MSTI-to-VLAN mapping
D. max age

E. revision level

Answer: ACE

NEW QUESTION 7
You are 802.1X supplicant, but traffic must be accepted once the user has authenticated their computer on the port In this scenario, which supplicant mode should
be used?

A. single-secure
B. single

C. multiple

D. captive-portal

Answer: B

NEW QUESTION 8
Click the Exhibit button.

usargfl> show pim rps
Instance: FPIM.master

addrass-family INET

RF address Typa Moda Holdtima Timeout Groups Group prefixes
10.222.1.2 bootstrap SpALSe 150 146 0 224.0.0.0/4
sidrase-fanily INETS All routers are MX Series devices

userdR2> show route 10.0.1.1

Source

inet.0: 20 destinaticns, 20 routes (20 active, 0 holddown, 0 hidden)

+ = Active Route, — = Last Active, * = Both
10.0.1.0/24 “[OSPF/10] 00:07:30, metric 2

> to 10.222.0.10 via ge-1/1/4.200
user@R2> show pim statistics | match “register|typae”
FIM Message Type Recaived Sent RxX érrors
V2 Register o i 0
V2 Register Stop 1] o o
Vi Register o o o
vl Registar Stop a o o
AutoRP Unknown type i}
Anycast BRegister o o i} 10.222.0.18/30
Anycast Register Stop o i o

R3

10.0.0.0/24

.1|

10.222.1.4 10.222.1.5

Referring to the exhibit, the source is currently sending multicast traffic using group 224.1.1.1, which is being received by R1. R2 is not receiving PIM register
messages.
What would be the cause of this problem?

A. Tunnel services have not been enabled on R1.

B. All routers have not been configured with the same Auto-RP discovery group.
C. R5 has not received an IGMP report of 224.1.1.1.

D. A(*,G) tree has not been built yet.

Answer: C

NEW QUESTION 9

You are using 802.1X in your access network consisting of EX Series switches. You recently had a failure with your RADIUS server which resulted in
authenticating client devices being denied access to the network. You want to change this behavior so that authenticating clients are directed to a remediation
VLAN.

Which RADIUS server failback setting satisfies this requirement?

A. permit
B. move
C. sustain
D. deny
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Answer: B

NEW QUESTION 10
You notice a mass withdrawal of routes for some of the network hosts. You determine that the link on the ESI interface is down.
Which route type is used in this scenario?

A. Type 2
B. Type 3
C.Type 1l
D. Type 5

Answer: C

NEW QUESTION 10
Click the Exhibit button.

Not-So-Stubby Totally Stubby

Area Area
P 2 T
£ N 3\
(R1 )
L ¥ 4
“"'1-\_. o . e

Referring to the exhibit, how is R5 able to learn the networks that exist within the NSSA?
A. R5 learns those networks from Type 3 LSAs advertised by R2.

B. R5 learns those networks from Type 3 LSAs advertised by R3.

C. R5 does not learn those networks and uses a default route advertised by R3 instead.
D. R5 does not learn those networks but uses a default route advertised by R2 instead.
Answer: D

NEW QUESTION 13
Click the Exhibit button.
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[edit]
userf@router# show protocols bgp
group BGP-MESH {
type internal;
local-address 172.10.50.200;
family inet {
unicast:;
export NHS;
cluster 172.10.50.200;
peer-as ©3001;
neighbor 10.10.0.50;
neighbor 172.16.200.4;

[edit]
user@router# show policy-options policy-statement NHS
term BGPE ROUTES {
from protocols bgp:
then
next-hop self:;
accept;

}

You are investigating reports of increased latency and discover that some routes cause customer traffic to traverse a route reflector instead of the optimal path.
Referring to the exhibit, which configuration statement would solve the problem?

A. delete protocols bgp group BGP-MESH peer-as

B. set policy-options policy-statement NHS term BGP_ROUTES from external
C. set protocols bgp group BGP-MESH import NHS

D. delete protocols bgp group BGP-MESH export NHS

Answer: B

NEW QUESTION 17
Click the Exhibit button.

EB& AF’

R1 IBGP .Ré
AS 65001

You are configuring BGP policies for a site with a dual-homed connection as shown in the exhibit. You must ensure that inbound traffic from Internet hosts flow
through the ISP A connection.

Which statement is correct in this scenario?

A. Apply a BGP export policy on R1 to assign a lower MED value to routes advertised to ISP A

B. Apply a BGP export policy on R1 to assign a higher local preference value to routes advertised to ISP A

C. Apply a BGP export policy onR2to assign a lower origin value to routes advertised to ISP B

D. Apply a BGP export policy to R2 to prepend [65001 65001 65001 65001 65001] to the AS path of routes advertised to ISP B

Answer: D

NEW QUESTION 18
Click the Exhibit button.
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user@Mxl# show protocols bgp

group EVPN {
local-address 10.0.0.1;
family inet-vpn {
unicast;

}

family evpn ({
signaling;

}

local-as 65001;

multipath multiple-as;

neighbor 10.0.0.2 {
peer-as 65001;

user@MxX1# run show bgp summary

Groups: 1 Peers: 1 Down peers: 0

Table Tot Paths Act Paths Suppressed History
Pending

bgp.1i3vpn.0

0
bgp.evpn.0

0 0 0 0 0
Peer AS InPkt OutPkt outQ Flaps
State | #Active/Received/Accepted/Damped..
10.0.0.2 65001 & 6 0 0
Establ

bgp.13vpn.0: 0/0/0/0

user@Mx2# show protococls bgp
group EVPN {
local-address 10.0.0.2;
family inet-vpn {
unicast;
}
cluster 172.1.1.55;
local-as 65001;
multipath multiple-as;
neighbor 10.0.0.1 {
peer-as 65001;

user@MxX2#run show bgp summary
Groups: 1 Peers: 1 Down peers:

Damp State

0
Last Up/Dwn

1:33

Table Tot Paths Act Paths Suppressed History Damp State

Pending
bgp.l13vpn. 0
0 0 0 0 0
0
Pesr AS InFPkt CutPkt CoutQ Flaps
State | #Active/Received/Accepted/Damped..
10.0.0.1 65001 3 5 0 0
Establ
bgp.13vpn.0: 0/0/0/0

Last Up/Dwn

1:20

You are configuring an EVPN overlay to allow VLANSs to be stretched between two campus sites, but EVPN routes are not being exchanged.

Referring to the exhibit, which configuration statement would solve this problem?
A. Apply the set protocols bgp group EVPN family inet-vpn any configuration on MX1 and MX?
B. Apply the set protocols bgp group EVPN family EVPN signaling configuration on MX2.

C. Apply the delete protocols bgp group EVPN multipath multiple-an configuration on MX1 and MX2
D. Apply the delete protocols bgp group EVPN cluster 172 .1.1. 53 configuration on MX2

Answer: B
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NEW QUESTION 20
What information is contained in an OSPF LSA header? (Choose two.)

A. protocol

B. options

C. length

D. subnet mask

Answer: BC

NEW QUESTION 25
Which two statements about OSPF routing policies are correct? (Choose two.)

A. By default, OSPF export policies reject network-summary LSAs.
B. By default, OSPF export policies accept network-summary LSAs.
C. By default, OSPF import policies accept network-summary LSAs.
D. By default, OSPF import policies reject network-summary LSAs.

Answer: AC

NEW QUESTION 29
Exhibit.

user@router-> show log ospf-trace.log

Oct 8 16:20:26.812781 OSPF packet ignored: no matching interface from
192.168.0.2, IFL 715

Oct B8 16:20:26.812804 Receiwved OSPF packet of type and wire length 1, &0

Oct 8 16:20:26.812807 OSPF rovd Hello 192.168.0.2 -»> 224.0.0.5 (ge-0/0/2.0

IFL 73 area 0.0.0.1)

Oct 8 le:20:26.81280% Version 2, length 48, ID 172.29%.0.5, area 0.0.0.1
Oct B 16:20:26.812810 checksum 0x0, authtype 0

Oct B 16:20:26,.812812 mask 255.255.255.252, hello iwvl 10, opts 0xlB, prio
128

Oct 8 16:20:26.812814 dead ivl 40, DR 192.168.0.2, BDR 0.0.0.0

Cct B 16:20:26.812816 OSPF restart signaling: Received hello with LLS data

from nbr ip=192.168.0.2 id=172.259.0.5

Cct 8 16:20:26.812818 OSPFF packet ignored: configuration mismatch from
192.168.0.2 on intf ge-0/0/2.0 area 0.0.0.1

Cct B8 16:20:26.8128321 OSPF packet ignored: no matching interface from
192.168.0.2, IFL 72

Cct £ 16:20:30.520194 OSPF periodic xmit from 192.168.0.1 to 224.0.0.5 (IFL

73 area 0.0.0.1)
Oct B 16:20:30.520546 OSPF packet ignored: no matching interface from

192.168.0.1, IFL 75

Oct B 16:20:30.520561 OSPF packet ignored: no matching interface from
1%2.168.0.1, IFL 72

Oct 8 16:20:36.114424 OSPF packet ignored: no matching interface from
192.168.0.2, IFL 75

Cct B 16:20:36.114447 Received OSPF packet of type and wire length 1, &0
Oct 8 16:20:36.11444%9 O0SPF rcvd Helleo 182.1€68.0.2 =-> 224.0.0.5 {(ge=-0/0/2.0
IFL 73 area 0.0.0.1)

Oct 8 16:20:36.114451 Varsion 2, length 48, ID 172.29.0.5, araa 0.0.0.1
Oct § 16:20:36.114452 checksum 0Ox0, authtype 0

Oct 8 16:20:36.114454 mask 255.255.255.252; hello_ivl 10; opts O0xX1E8; prio
i28

Oct 8 16:20:36.114455 dead ivl 40, DR 192.168.0.2, BDR 0.0.0.0

Oct 8 16:20:36.114458 OSPF restart signaling: Received hello with LLS data

from nbr ip=192.163.ﬂ.2 id=172.29.0.5.
Oct 8 16:20:36.114460 OSPF packet ignored: configuration mismatch from
182.168.0.2 on intf ge-0/0/2.0 area 0.0.0.1

A router is attempting to form an OSPF neighborship with another router However, the OSPF neighborship fails to establish completely Referring to the exhibit,

what is the problem?

A. There is an OSPF area mismatch

B. There is an interface MTU mismatch

C. There is an interface subnet mask mismatch
D. There is an interface type mismatch
Answer: B

NEW QUESTION 30
Exhibit.
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M\ Exhibit (5]

W1 AN Inter Switch Limk Ports
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1 € e 00071 O

Fe-0/09.0

Sales Finance Flnancﬁ_
23 10 21 1 /22310 17 172 231022

You are configuring, the PVLAN feature on your switches. The PVLAN will span the two EX Series switches shown in the exhibit
Which three configuration parameters must be enabled on the ports connecting the two switches? (Choose three. )

A. family inet

B. interface-mode access
C. interface-mode trunk

D. family Ethernet-switching
E. inter-switch-link

Answer: CDE

NEW QUESTION 34
Your IPv4 multicast network uses different MX Series routers for the source DR and the PIM sparse-mode RP.
What is required before PIM register messages are exchanged between the DR and RP routers?

A. Add a tunnel services PIC to the RP router.

B. Add an adaptive services PIC to the DR router.

C. Enable tunnel services on the DR and RP routers.

D. Configure PIM encapsulation on the DR and RP routers.

Answer: C

NEW QUESTION 39
Exhibit.

M\ Exhibit &=

You are authenticating user devices connected to your ex Series switch. You have 802.1X and MAC RADIUS configured for all ports A user is complaining about
the time it takes to connect their non-802.1X device on ge-0/0/15 using MAC RADIUS authentication
Referring to the exhibit, what should be done to accelerate the authentication process?

A. Change the supplicant mode to multiple on ge-0/0/15

B. Configure the no-reauthentication feature for 802.1X on ge-0/0/15
C. Configure the restrict feature for MAC RADIUS on ge-0/0/15.

D. Change the 802.1X retry attempts value to 5 on ge-0/0/15

Answer: A

NEW QUESTION 40
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Click the Exhibit button.

AS-1
— | ge-0/0/1.0

AS-2 R1

—
—_—
—

ge-0/0/6.0 ge-0/0/7.0

L ==
HR
172.23.0.11

[editz interfaces]
userfAsS-14 show

Executive
172.23.0.21

ga=-0/0/1 |
unic 0 {
family ethernet-switching {
interface-mods trunk:
vian |
membars-vlian-pri
}
I
1
}
ga-0/0/6 |
unic 0 {

family ethernet-switching {
interface-mode access:
vilian {

mambars hr;

}

)
}
ge-0/0/T7 |
unat O {
family ethernet-switching {
interface-moda accass;
vilan |
members executive;

}

}
¥
[edit wvlans]
userBAs-14 show vlan
vian-pri {
vian-id 100;
community-vlans [ executive hr ];
}
exscucive |
vlian-id 20:
private-vlan community;
}
ke {
vian-id 10:
private-vlian community;

ge-ﬂfﬂﬁ.ﬂ "_:: ge-DIDHD.U _;L.
= 35
172.23.0.1

ge-0/0/6.0 ge-0/0/7.0

L= ==
HR Executive
172.23.0.12 172.23.0.22

[edit interfaces]
user@As-24 show

gea-0/0/1 |
unit 0 {
family ethernet-switching {
interface-moda trunk;
vian {
membars-vlian-pri
}
}
t
}
ge-0/0/6 |
unit 0 {

family etharnet-switching {
interface-mode access;
vian {

membars hrj

}

}
¥
ga-0/0/7 |
unit 0 {
family athernet-switching |
interface-mode access:
vian |
membars exeacutive;
|}

}
}
ge=0/0/10 {
unit 0 {
family ethernet-switching {
interface-mode turnk;
vilan {
members vlan-pri;

]

[edit vlans]
userB@AsS-24 show vlan
vian-pri |
vian-id 100;
community-vlians [ executive hr ]:
}
executive |
vian-id 20;
private-vlian community:

You recently implemented the configuration shown in the exhibit. After committing these changes, the community devices connected to AS-1 are not able to
communicate with the appropriate community devices connected to AS-2.
What must be done to allow these community devices to communicate?

A. You must configure to allow the ge-0/0/1 interface on AS-1 as the inter-switch.

B. You must configure the ge-0/0/10 interface on AS-1 as the inter-switch link.

C. You must configure the ge-0/0/1 interface on both switches the inter-switch links.

D. You must configure an isolation VLAN ID under the vlan-pri vlan on the AS-2 switch.
E. You must configure an isolation VLAN ID under the vlan-pri VLAN on both switches.

Answer: C

NEW QUESTION 42
Exhibit.
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user@router> show ospf interface extensive

ge-0/0/0.0 PtToPt 0.0.0.0 0.0.0.0 ¢.0.0.0
Type: P2P, Address: 10.10.10.14, Mask: 2535.235.255.252, MIU:
Adj count: 1
Hello: 10, Dead: 40, ReX¥mit: 5, Not Stub
Buth type: None
Protection type: None
Topology default (ID 0) => Cost:

ge-0/0/1.0 DR 0.0.0.0 172.2%9.0.4 172.29
Type: LAN, Address: 10.10.10.10. Mask: 255.255.255.252, MTU:
DR addr: 10.10.10.10, BDR addr: 10.10.10.9, Priority: 128

Adj count: 1

Hello: 10, Dead: 40, ReXmit: 5, Not Stub
2Zuth type: None

Protection type: None

Topology default (ID 0) -> Cost: 1

Referring to the exhibit, which two statements are true? (Choose two )

A. There can be more than one OSPF neighbor on the ge-0/0/0 interface
B. There can be more than one OSPF neighbor on the ge-0/0/1 interface.
C. There is no need for a DR for the ge-0/0/0 interface.

D. The DR election process is not finished for the ge-0/0/0 interface

Answer: BC

NEW QUESTION 46

1500,

Cost:

Cost:

=

You have configured CoS on a Junos device. A packet is classified as best effort by a behavior aggregate (BA) classifier, and as expedited forwarding by a

multifield (MF) classifier.
Which statement is true in this scenario?

A. The packet will be placed in a queue associated with the BA classifier.

B. The packet will be placed into the queue which is least congested.

C. The packet will be placed into the queue that has the most bandwidth assigned to it.
D. The packet will be placed in a queue associated with the MF classifier.

Answer: A

NEW QUESTION 48
What are two supported POE management modes? (Choose two.)

A. mixed
B. standalone
C. class
D. static

Answer: CD

NEW QUESTION 51
Exhibit.

user@@routerf show interfaces ge-0/0/1
description “Customer Port”:;
flexible-vlan-tagging;
native-vlan-id 150;
encapsulation extended-vlan-bridge;
unit 10 {
vlan-id-1list 100-200;
input-vlan-map push;
output-vlian-map pop:
}
user@routerf show interfaces xe-0/0/48
description “Uplink Port”;
vlan-tagging:;
unit 10 {
vlian-id 10;

user@router# show vlans v10
interface ge-0/0/1.10;
interface xe-0/0/46.10;

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? {Choose two)
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A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10.
B. The C-VLANs 100-200 will be sent as the inner VLAN tag

C. The C-VLAN 150 will be sent as the inner VLAN tag

D. The C-VLAN traffic will be encapsulated with an outer VLAN lag of 150

Answer: AB

NEW QUESTION 56
You want to view the VLANSs that have been created dynamically using MVRP. Which operational mode command will display this information?

A. Show mvrp dynamic-vlan memberships
B. Show mvrp interface

C. Show mvrp registration-state

D. Show mvrp applicant-state

Answer: A

NEW QUESTION 60

You have an MX960 configured as a Fusion aggregation device (AD) and two QFX5100 switches as satellite devices (SD). You have configured local-switching for
each SD. A packet with an unknown MAC address

is received on one of the SD extended ports. Which statement is correct in this scenario?

A. The packet is dropped and a reject message is sent out to the port where it was received.

B. The packet is silently discarded and a reject message is sent to the AD.

C. The packet is flooded out of all the ports on the SD except the one where it was received.

D. The packet is sent to the AD to be processed and forwarded.D18912E1457D5D1DDCBD40AB3BF70D5D

Answer: D

NEW QUESTION 62
Exhibit.

M\ Exhibit 5

Referring to the log shown in the exhibit, what is the problem with the OSPF adjacency establishment?
A. The interface IP addresses on the subnet are duplicates.

B. There is an MDS authentication mismatch.

C. The referenced IP address does not exist on the network segment.

D. The OSPF database description packet is malformed.

Answer: A

NEW QUESTION 64
Exhibit.
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Your I1S-IS adjacency is not established as shown in the exhibit. What is the problem?

A. There is an invalid IPv6 router ID
B. There is an MTU mismatch
C. There is an invalid IPv4 router ID
D. There is an area mismatch

Answer: D

NEW QUESTION 67
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